Name 	Class 	Date 	
Chapter 8 Test Review	Advanced Algebra

For Questions 1 – 12, write each equation in logarithmic form.
 
1.  92 = 81	  1.  ____________________		7.  54 = 625		7.  ____________________

2.  252 = 625	  2.  ____________________		8.  10–3 = 0.001	8.  ____________________

3.  83 = 512	  3.  ____________________		9.  110 = 1		9.  ____________________

4.  132 = 169	  4.  ____________________		10.  61 = 6		10.  ___________________

5.  29 = 512	  5.  ____________________		11.  170 = 1		11.  ___________________

6.  45 = 1024	  6.  ____________________		12.  171 = 17		12.  ___________________

	  
For Questions 13 – 24, evaluate each logarithm.


13.  log216	  13.  ____________________	19.  log2 		19.  ____________________


14.  log28	  14.  ____________________	20.  log2 		20.  ____________________

15.  log24	  15.  ____________________	21.  log1616		21.  ____________________


16.  log22	  16.  ____________________	22.  log5125		22.  ____________________


17.  log21	  17.  ____________________	23.  log11121		23.  ____________________


18.  			  18.  ____________________	24.  log 0.1		24.  ____________________


For Questions 25 – 30, for each graph of the logarithmic function, identify the parent function and explain how the graph was translated.

25.  y = log3(x + 1)	25.  _______________	28.  y = log6(x + 2)	          28.  _______________

			___________________				          ___________________

26.  y = log2x – 3	26.  _______________	29.  y = log5(x – 4) + 1          29.  _______________

			___________________				          ___________________

27.  y = log7(x – 2)	27.  _______________	30.  y = log2(x – 3) + 1          30.  _______________

				___________________				          ___________________

For Questions 31 – 42, write each equation in exponential form.


31.  log4256 = 4  31.  ____________________	37.  log959,049 = 5	37.  ____________________


32.  log71 = 0	  32.  ____________________	38.  log17289 = 2	38.  ____________________


33.  log232 = 5	  33.  ____________________	39.  log561 = 0		39.  ____________________



34.  log 10 = 1	  34.  ____________________	40.  	40.  ____________________



35.  log55 = 1	  35.  ____________________	41.  	41.  ____________________



36.   36.  ____________________	42.  log36561 = 8	42.  ____________________

 

For Questions 43 – 48, write each logarithmic expression as a single logarithm.




43.  	43.  _______________	46.         46.  _______________

		


44.  	44.  _______________	47.                  47.  _______________




45.  	45.  _______________	48.                    48.  _______________




For Questions 49 – 54, expand each logarithm.




49.  		49.  _______________	52.  	52.  _______________

		


50.  	50.  _______________	53.    		53.  _______________




51.  		51.  _______________	54.                    54.  _______________


For Questions 55 – 64, use the Change of Base Formula to evaluate each expression. Round answers to the nearest hundredth.

55.  log212	  55.  ____________________	60.  log510		60.  ____________________

56.  log340	  56.  ____________________	61.  log28		61.  ____________________

57.  log48	  57.  ____________________	62.  log36		62.  ____________________

58.  log53	  58.  ____________________	63.  log93		63.  ____________________

59.  log21	  59.  ____________________	64.  log83		64.  ____________________


Solve each equation.  Round answers to the nearest hundredth.

65.  log (3x – 2) = 3		65.  __________	73.  2 log (2x + 5) = 4		73.  __________





66.  8 log x = 16		66.  __________	74.  			74.  __________





67.  log 4x = 2			67.  __________	75.  			75.  __________




68.  log (x – 25) = 2		68.  __________	76.  		76.  __________





69.  log 3x – log 5 = 1		69.  __________	77.  		77.  __________




70.  2 log 3x – log 9 = 1	70.  __________	78.  ln 3x + ln x = 6		78.  __________




71.  2 log x – log 4 = 2	71.  __________	79.  ln (4x – 1) = 36		79.  __________




[bookmark: _GoBack]72.  log (2x + 5) = 3		72.  __________	80.  ln (2m + 3) = 8		80.  __________


image4.emf



12
1log 2
144



= −










12

1

log 2

144

=-


oleObject3.bin

image5.emf



2
1log 10



1024
= −










2

1

log 10

1024

=-


oleObject4.bin

image6.emf



8
1log 2
64



= −










8

1

log 2

64

=-


oleObject5.bin

image7.emf



€ 



log7 + log2










   

log7

+

log2


Microsoft_Equation1.bin

image8.emf



€ 



log8 − 2log6 + log3










   

log8

-

2log6

+

log3


Microsoft_Equation2.bin

image9.emf



€ 



log2 9 − log2 3










   

log

2

9

-

log

2

3


Microsoft_Equation3.bin

image10.emf



€ 



4 logm − logn










   

4logm

-

logn


Microsoft_Equation4.bin

image11.emf



€ 



5log3 + log4










   

5log3

+

log4


Microsoft_Equation5.bin

image12.emf



€ 



log5 − k log2










   

log5

-

klog2


Microsoft_Equation6.bin

image13.emf



€ 



log x 3y 5










   

log

x

3

y

5


Microsoft_Equation7.bin

image14.emf



€ 



log3m4n−2










   

log3

m

4

n

-

2


Microsoft_Equation8.bin

image15.emf



€ 



log7 22xyz










   

log

7

22xyz


Microsoft_Equation9.bin

image16.emf



€ 



log x 3y 5










   

log

x

3

y

5


Microsoft_Equation10.bin

image17.emf



€ 



log4 5 x










   

log

4

5

x


Microsoft_Equation11.bin

image18.emf



€ 



log5
r
s










   

log

5

r

s


Microsoft_Equation12.bin

image19.emf



€ 



e2x = 10










   

e

2x

=

10


Microsoft_Equation13.bin

image20.emf



€ 



ex+1 = 30










   

e

x

+

1

=

30


Microsoft_Equation14.bin

image21.emf



€ 



e
x
5 + 4 = 7










   

e

x

5

+

4

=

7


Microsoft_Equation15.bin

image22.emf



€ 



7e2x + 2.5 = 20










   

7

e

2x

+

2.5

=

20


Microsoft_Equation16.bin

image1.emf



1
4










1

4


oleObject1.bin

image2.emf



1
8










1

8


oleObject2.bin

image3.emf

